(‘) StudyBlaze.io

Your Al Tutor for interactive quiz, worksheet and flashcard creation.

Genetic Code Quiz Answer Key PDF

Genetic Code Quiz Answer Key PDF

Disclaimer: The genetic code quiz answer key pdf was generated with the help of StudyBlaze Al. Please be aware that Al
can make mistakes. Please consult your teacher if you're unsure about your solution or think there might have been a
mistake. Or reach out directly to the StudyBlaze team at max@studyblaze.io.

Discuss the significance of the discovery of the genetic code in the field of molecular biology.

The significance of the discovery of the genetic code lies in its role in explaining how sequences of
nucleotides in DNA correspond to specific amino acids in proteins, which are essential for all
biological functions.

Outline the steps involved in the translation process from mRNA to protein.

1. Initiation: The ribosome assembles around the mRNA and the first tRNA binds to the start codon.
2. Elongation: tRNAs bring amino acids to the ribosome, which links them together in the order
specified by the mRNA. 3. Termination: The process continues until a stop codon is reached, leading
to the release of the newly synthesized protein.

How has the understanding of the genetic code advanced the field of personalized medicine?

The advancements in understanding the genetic code have led to personalized medicine by allowing
for the customization of treatments based on a patient's unique genetic profile.

Which of the following is NOT a stop codon?

A. UAA
B. UAG
C. UGA
D. AUG v

Which of the following is the start codon?
A. UAA

B. UAG
C. AUG v
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D. UGA

The genetic code is nearly universal. What does this imply?

A. It is identical in all organisms

B. It varies significantly among different species

C. It is similar across most organisms with few exceptions v’
D. It only applies to humans

What does it mean when we say the genetic code is redundant?

A. Each codon codes for multiple amino acids

B. Multiple codons can code for the same amino acid v
C. Each amino acid is coded by a single codon

D. Codons can change their sequence

In which of the following can variations of the standard genetic code be found? (Select all that
apply)

A. Mitochondria v/

B. Viruses v

C. Bacteria v

D. Plants

How is knowledge of the genetic code applied in biotechnology? (Select all that apply)

A. Genetic engineering v’
B. DNA fingerprintting v/
C. Gene therapy v

D. Weather prediction

Which components are directly involved in the translation process? (Select all that apply)
A. mRNA v

B. DNA
C. Ribosome v
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D. tRNA v

Which of the following are stop codons? (Select all that apply)

A.UAA v
B. UAG v
C. AUG

D. UGA v

Describe how a single nucleotide change can affect protein synthesis.

A single nucleotide change can lead to a missense mutation, resulting in the incorporation of a
different amino acid into the protein, which may affect its function.

Which of the following can result from a point mutation in a gene? (Select all that apply)

A. Silent mutation v’
B. Missense mutation v’
C. Nonsense mutation v/
D. Frameshift mutation

How many nucleotides make up a codon?

A 2
B.3v
C. 4
D.5

Which of the following statements about genetic code redundancy are true? (Select all that apply)

A. It allows for some mutations to be silent v’

B. It means each amino acid is coded by one codon

C. It increases the accuracy of protein synthesis v’
D. It can lead to genetic disorders
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Provide examples of organisms or organelles where non-standard genetic codes are found and
explain the implications.

Examples of organisms with non-standard genetic codes include mitochondria in mammals (where
AUA codes for methonine instead of isoleusine), the ciliate Tetrahymena (which uses UGA as a
sense codon for tryptophan), and certain bacteria like Mycoplasma. The implications of these non-
standard codes include altered protein synthesis mechanisms, potential impacts on evolutionary
adaptations, and challenges in genetic engineering and synthetic biology.

Who is one of the key scientists credited with the discovery of the genetic code?
A. Gregor Mendel
B. Charles Darwin

C. Francis Crick v
D. James Watson

What is the genetic code?

A. A set of rules for DNA replication

B. A set of rules for translating DNA or RNA sequences into proteins v’
C. A sequence of nucleotides in RNA

D. A method for DNA fingerprintting

Explain why the redundancy of the genetic code is beneficial for organisms.

The redundancy of the genetic code is beneficial because it minimizes the impact of mutations,
allowing for the preservation of protein function despite genetic changes.

During translation, what is the role of tRNA?

A. To synthesize DNA

B. To bring amino acids to the ribosome v’
C. To transcribe mRNA

D. To replicate RNA
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